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Compound valie of a lmpsim
on: 1
Rai makes an nitial deposit of R 00,000 i Lasim Pank Ll Interest ds
compounded at 10% pa for 6 vears Compute the amennt of matirity

Solution :
COMPNIGIRON O SMONNT Of 0w ily

Amount of maturity - Faiure value (V) - M R)"

-— . . . e -
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N\ Calculate the maturity amount if Rs. 2,00,000 is invested for 2 years at 12%

compounded - (a) annually, (b) semi-annually, (c) quarterly and (d) monthly.
Solution :

Computation of maturity amount
(a) If interest is compounded annually
FV = P(1+R)"™

FV = Future value / Maturity amount = ?
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lustration: 3
Calculate the rate of interest if the period of doubling of an investment i
(a) -4 years (b) 6 years
Solution :
Compuitation of rase of interest

72

Doubling period =

Rate of interest

72
Doubling period

Rate of interest =

Scanned with CamScanner



MIUSIraton: 8

Calculate the maturity value of an annuity if Rs. 20,000 is paid annually for 7
vears at 12% compounded annually?

-

Seolution :
Compuiation of maturity value of an annuity

' : . (I +R) -1
Miaturity value of an annuity : Annuity amount X (i+ qr )

™ _ e TaNa¥al¥al

Scanned with CamScanner



I1. Present value of annuity
Justration: 16

11 : - " OO oon T the

Shajita has entered into an ag| cement that will fetoh her 18 60 04 :" 4 :w y
‘ R < prEler e

next 4 years. She wants to know the present yilue of the futine CAs W

20% discount rate.

Solution :
Compulation of present value of annuify
|

. y = Cash inflow ~ v
P.V of annuity = L ash i (11 R)'
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Mustration: »
\

Rane Ltd. has issued debentures of Rs. 20 lakh to be repaid after 5 years. How

much should the company invest in a sinking fund earning 10% in order to be
able to repay debentures?

Selution :

This situation is an annual cash outflow, eaming return at 10%, in order g
earn a lumpsum amount of Rs. 20 lakh, after 5 years. Future value of this annuity
payment 1o sinking fund should be Rs. 20 lakh.

O aldaddlda_2._ 2> __..08 ) (I*R)ﬂ*'i
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I Fayback Period Method

y hlush'uﬁun: I
A project has an initial investment of Rs. 2,00,000. It will produce cash flows

after tax 0 Rs. 50,000 per annum for six years. Compute the payback period for

the project.

Solation :
Computation of Payback period (Uniform CFAT)

Pavback period = Initial investment
)’l , ‘vl ‘\' ' 4 - - ~e
ayback perio CFATp2
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Hiustration: 4
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fllustration: 1 (Growth firm) — Walter Model
ate of return on investment of Rafael Ltd. are 10%

as 5 lakh equity shares of Rs. 10 each
Rs. 20. Compute the market price per
r Model and comment

I'he cost of capital and the r
and 189 respectively. The company h

sutstanding and earnings per share are

hare and value of firm in the following situations. Use Walte

on the results.
(1) No retention, (ii) 40% retention, (ii1) 80% retention.

Solution:
(i) 0% retention : 100 % payout

D+—(E - D)
k

Market price per share under Walter Model —
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JHUDLL sssxvany -

Details regarding three companies are given below :

Nel Ltd. Mel Ltd. Gel Ltd.
r=18% r=20% r==8%
k=15% k=20% k=10%
E=Rs. 30 E=Rs. 40 E=20

By using Walter’s model, you are required to
() Calculate the value of an equity share of each of these companies
dividend payout is (a) 30%, (b) 60%, () 100%;
_ (i-i) Comment on the results drawn.

whe

oy
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Ilustration: 9 (Normal firm)— Gordon Model

S Du Preez Ltd. gives you the following information :
Earnings per share : Rs. 45

Cost of capital : 18%

Return on investment : 18%

Ascertain the market value per share using Gordon’s Model, if the payout is
(@) 30%, (b) 60%, (c) 90%.
Solution:
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llustration: 13 (MM Model)

Stewart Ltd. has 40,000 shares outstandin
shares is Rs. 15 each. The Board of director |
Rs. 2 per share as dividend. The rate of capitalisation appropriate to the risk-clagg
10 which the company belongs is 20%.

() Based on MM approach, calcy

late the market price of the share of the
company when the recommended dividend is (a) distributed ang (b) not
declared.
() How many new

shares to be issued by the COmpany at the end of the
€ar on the assumpt; '

ds are distributed or not declared
a .
Solution - PProach realistico What factors might mar its validity?
C Omputatiop, of marke
(@) Ifai

| t Price of the g, are under MM model
r dxstributed

* Price of share (P‘) =k X(H‘k')—D

1
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